Extra Practice 5

	Lesson 3.5: Dividing Decimals

1.
Estimate to place the decimal point in each quotient.

a) 17.5 
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 2.5 = 7000

b) 124.6  0.8 = 15575
c) 57.96 
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 4.6 = 1260

2.
Divide.



a)
9.45 
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 0.3


b) 92.34 
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 0.6
c) 1.8 
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 0.2

3.
a) Divide 428 ( 16.

b) Use only the result from part a and estimation.

Find each quotient.

i) 42.8 
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 1.6
ii)
4280 
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 160
iii)
4.28 
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 0.16

c) What do you notice about your answers in part b? 
Explain.

4.
Cameron has a board 3.8 m long. 

He wants to make shelves for his room.

Each shelf is to be 0.6 m long. 



a)
How many shelves will Cameron get from this board?



b)
He needs 4 shelves. How much board is left over?



c)
Cameron’s sister wants 2 shelves. 
She makes them from the leftover board. 
How long will each shelf be? 
What assumptions do you make?

5.
Anita bought 5.7 m of curtain material. 


It cost $170.94. What is the cost of 1 m of material?

6.
The area of the top of a rectangular picnic table is 1.26 m2.
The width of the tabletop is 0.7 m.
What is its length?
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1.

a)
7.000
b)
155.75
c)
12.60

2.

a)
31.5
b)
153.9
c)
9

3.

a)
26.75


b) i) 26.75
ii)
26.75
iii)
26.75

c) The answers are all the same. All of the division statements are equivalent. In part i, both the divisor and the dividend are divided by 10; in part ii, they are multiplied by 10; in part iii, they are divided by 100. So, the quotient does not change each time.
4.

Assume that no wood is lost when each cut is made. 
In practice, this does not happen.



a)
6 boards
b)
1.4 m
c)
0.7 m

5.

$29.99

6.

1.8 m
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